EI3MMIVFERIIRYRERE—E

(S5 EYIm]

"AADVZAT—=I(3kXEk- /Ny I NRIV-BIRFERAIZO0—7- FAREBRAERT—I)=>1R

2X2 TUR=297R

3T V=9

ERE=>190xX

‘Hl=>293K

-fi1=51081

H—FFI7&T—TIL=20

~SRT—h=25

AREEN L (R RARYUR) =65 (BLR3B)

-FREVWIZYNEIR)=6R

AN L=>8R

-N—-J—2=180R

[(BiREERE]
T IONIA(T =R T LEMETRA)
I CEHEIR(450%1800)=>31K
- CEHEMR(1800%1800) =3
I TEMR(900%1800) =444

[ 45R]
BHE=347

(v MVINZEITE)
PatzinAvEXi

EEXSvT]
SBERYYI=>10%4
-BERI=>2%
-FEEIRE>RIE 2 &

[ERLEREER]
-TRX5—=160%p
-F52=10,000 &8
-J—=2Lwk=10,000 5B

[(RTF—IHERR]
MBI EPRXE(2 82)=45 BHH
W= NS v o Fv—5—&F=>5 AH



